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(b) TR RS Sy 1 R Ao T
€73

The order of reactivity of alkyl halides in
Syl reaction is

fij RaizE s > 1°-GEiRe (TARS > 2°-
PR CTRE > 3o-Gerize| (NS
methyl halide > 1°-alkyl halide > 2°
alkyl halide > 3°-alkyl halide

(i) 3°-9TIE TART > 20-gFFRA (TN
> 1°- TR (T > R (e

3°-alkyl halide > 2°-alkyl halide > 1*
alkyl halide > methyl halide

(@) 2°-THE CAiRS > 3o-Erie N
> 1°- T it > e S
2°-alkyl halide > 3°-alkyl halide > 1

alkyl halide > methyl halide
3°-9T MRS > Rajfeet iz > 2
TR T > 1o-qorpiae] S

3°-alkyl halide > methy] halide > 2
alleyl halide > 1°_ajiey halide

€ =T il Qoam weo cmmE @
%ﬁmﬂmq?w

Aldol condensati ur
on t occ
between does no

) T Ra oo

two different aldehydes

(iv)
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(3 )

(i) 7o o b’
two different ketones

(ifi) BT SIS WIE 51 R

an aldehyde and a ketone

(iv) 91 GEERT W b1 BR

an aldehyde and an ester

(d) R oY w1 oS T'a

The nature of aqueous solution of phenol
is

(i) FREW / basic
(i) &N / neutral
(iii) Sf3F / acidic
(iv) @°R3 9618 7= / None of the above

fe) REH (AFNIRS TERR wRIe Seom IR
FRET GNEAE A

Amine that cannot be prepared by
Gabriel phthalimide synthesis is

(i) <fRf= / aniline

(i) RRF9a% / methylamine

(i) QARG / benzylamine

(iv) SRR REiFqwi / isobutylamine
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UNIT—I

2. (o) & <f7 @fem—
What happens when—

() 2-FTRCGT  qwedy  «oRam
AG'AR GCe Tuy IR,

2-chlorobutane is heated with
alcoholic potassium hydroxide;

(i) RERFAE R Reer wRgs @@
o Rien ¥R o 1x2=2

acetylene on  treatment with
ammonical silver nitrate solution?

(b) w15 frm RRFTGGR REIRR fryy 2

Write down the mechanism of the
following reaction :

CH, (I2H3
cn3-—<|:—c1 +KOH (alc.) —s CH3—C=CH, + KCl + H20
CH,

(c) =TS AR “ifRes (R coman wpr) :  2x2=4
Convert the following (any two) :
() OREFR o1 e
Acetylene to benzene
() 2P Ry ot sty
Propene to Propanoj
(i) XRF 3*3fywy oy i

‘ Ethyl bromide to ethane
16-21/64

( Continued)



@

3. (a)
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(c)
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(5)

wre fim R s 7 (R @
o) 1x3=3
Complete the following reactions (any
three) :

() CH;—COONa + NaOH ——> ?

. Organic peroxid
(i) CH3—CH=CH, + HBr reanc peroxice > ?

Pd/BaS
(iiij CH3—C=C—H + H, __/a_o“_> ?

1 g
iy —cH. + Lo, DB
( ) CH,=CHj + 50, 250 °C ?

UNIT—II
Broe-aeor e R feikik
foran 1 2
Discuss the mechanism of Friedel-Crafts
alkylation reaction.

o AR (@S fRas IR 1x2=2

How can you convert the following?

(i) R AT aRes o[ @R
Benzenesulphonic acid to benzene

(i) TRAA R R I

Benzene to cyclohexane

R < cafow R e @ OSB89
¥R 2 . {
What happens when phenol is heated
with zinc dust?

( Turn Over )
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UNIT—III

4. (@ R RiEm 0 o T3 oF VA TSI
Syl @& Sy 27 T[l FEbe 7’3, Ay I -
1x2=2
Complete the following two reactions and

mention whether they will follow Sy1 or
Sy2 path for each :

©
(i) CHy —Cl+OH — ?

o
(i) (CHz)3C—Cl+OH—?

(b) THEANRR KRR e RN ago-
g foram 2

Write down the preparation of methoxy-

ethane with the help of Williamson’s
synthesis.

(c) =S famam Ry 1 (R o Fof1) a6
Convert the following (any three) :
f) Reiz= 2aiRes /1 wam
Methyl bromide to ethane
(i) 1-TTLCR R/ 2-37 oo
1-Bromopropane to 2-bromopropaneé
(i) FITRTT | @Ry
Chlorobenzene to benzene
(iv) SRR om1 #3 R
Aniline to chlorobenzene
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(@ 3e-aE cos B wE syl AR
Why can 3°-alkyl halide easi
e easil v
SNl reaction? Explain' sily undergo

UNIT—IV

Wﬁﬁ@wg’ml

Write how phenol can be
the help of cumene

method.
(b) T PRSP TS o3, (RIIR TE
e T T e ondE s =,

TPz, A T
How can primary, and tertiary
alcohols be distinguished wi

of Lucas test? Explain with the help of

examples.
() oo REFPTR
e o) ¢ ‘
. .o reactions with the

Explain th
help of suitable €

2

prepared with
hydroperoxide ,

T e, I T @
ox2=4

<ample (@Y

(iii) ﬁm’a_ﬁm’a’q W q
angement

Pinacol-pirlac()l"rle re ( Turnt over)
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(8)

(cli) wore AR ke ¥ (R core ) ¢ 1x2=2

6. (a)

Synthesize the following (any two) :
() PRz afks / Picric acid

(i) - A 9eF'Z@ | Benzyl alcohol -
(i) B= / Glycerol

UNIT—V

eREE FNTS FARRR RS XA
4go F | ‘ 2
Prepare ethylamine with the help . of
Gabriel phthalimide synthesis.
(b) o’ RiGmER o 301 (R e o) - s
 1x3=

16-21—4000/64

Complete the following reactions (any
three) :

(i) CH3—CH—CONH, + Br, + KOH (aq) 52

NH, f
:
" NaNO, + HCl
(®) @ oge > ? :
NaCI™
(iii) @ _CuCyHa |
NH,
(iv) @ _Bra/Ho .
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